Handout - Kayaking on the Sound

Dusty Wilson

Math 115

Peter and Wissam are each out kayaking on the Puget Sound.  Peter begins at Saltwater and navigates in a straight line toward Normandy Park.  Wissam’s route takes him from across the Sound on a line to the Des Moines’ marina.  Both Kayakers begin their voyages at 8am.  (Note: The origin was placed at Arrow Lake).
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a.) Using the map above, how far will each kayaker kayak?

b.) If their paths cross, what are the coordinates of the point of intersection?

c.)  If Peter and Wissam kayak at the same rate, will their boats collide?  Explain your answer.
d.)  How much faster must Wissam kayak than Peter for them to collide at the point of intersection?  Explain your answer.  

e.) As they are navigating in a heavy fog, visibility is limited to 0.25 km.  Consequently, they are entirely dependent upon their GPS units for navigation.  If Peter kayaks at 1 km per hour and Wissam kayaks at 1.452 km per hour, when (if ever) will they glimpse each other through the fog?
f.) If Peter kayaks at 1.207 km per hour and Wissam at 2 km per hour, for how long will they be within sight of each other?

